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FOD 2,000 4,200 6,200
STFaATESI v — 1,800 4,000 -

AFITITLAINT R 2,200 4,400 -

STFaTEIVIR 2,600 4,800 6,800
Al 2,600 4,800 -

SvrvoSvtl 2,800 5,000 7,000
ARARFUT 2,600 4,800 -

e3> 2,800 5,000 7,000
RASZT7> 3,300 5,500 8,000
I—USvFUT 2,600 4,800 7,000
TILF—X 2,800 5,000 7,700
3 —X— 3,300 5,500 8,300
RFE——X 3,700 5,900 8,100
F)\UT 3,900 6,100 8,000
N —RIL 3,900 6,100 9,200
ETFaF7T—-RIL 6,600 8,800 13,200
=SFTA4T7LT—RIL 9,900 12,100 19,300
REAH—RT—R)L 12,700 14,900 25,900
Ez3a>Ju—t 4,700 6,900 10,400
TJAYV—TA VIR 3,600 5,800 8,800
DIRTA 3,900 6,100 9,200
AAT4wv>aF U7 4,400 6,600 9,900
S=Faratrov— 3,900 6,100 9,200
E—-2JIL 3,300 5,500 -
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d—%— 4,700 6,900 9,600
LR 4,700 6,900 9,600
> TILTA 5,800 8,000 11,300
FAUH v H— 5,500 7,700 11,000
dI-IL7> - L J—)(— 8,600 10,800 16,300
SIS R=)L- L KhU—)(— 7,000 9,200 -

A-RSUT> - STSR—RIL Z=Fa 7 7,700 9,900 16,000
A—-RARSUT> - STSRO—RIL Z54T A 10,500 12,700 21,500
A—ZARSUT> - STSRo—RIL ZZH—R 13,800 16,000 27,000
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